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Find the degree of each monomial.
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a.18 Degreé: 0  The degree of a-nonzero constant is 0.
. 3,\9y3 Degree: 4 - The exponents are 1 and 3. Their sum is 4.
c.6c Degree:1 -  6c = 6¢'l. The exponentis 1.

Write each polynomia[ in standard form,

ST Highest - low

a. —2 + 7

x—-2 Place terms in order.
linear binomial .

b.‘3x5—2—2x5+7x N
3x° — 2x5 + 7x — - 2 Place terms in mder

X+ X -2 - Combme like tem'as
fifth degree trmomlal '

Method 1: Add vertlcally |
Line up like terms. Then add the coefficients.

6x2 + 3x + 7
2x° — 6x — 4
82 —-3x+ 3

Method 2: Add horizontally.

Group like terms. Then add the coeﬁlments

(m2+ 30+ 7) + (2x2 — 6x—4)—(6x2-%-2x2)+(3x 6x) +
=82 -3x+ 83
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Algebra 1, Chapter 9

name each polynomial by its degr and the number of

(7-4)
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Simplify (23 + 4x2 — 6) — (5x> + 2x — 2).
Method 1: Subtract vertically. ' '
Line up like terms. Then add the coefficients.

23 +4x2 -6 Line up like terms.
=6 + 20 —2) :

- 2x3 + 4x2 =6 Add the opposite.
-5 = -2 +2 |
-3 + 42 -2 — 4
Method 2: Subtract horizontally.
@23 +4x2 —6) — 6x° +2x — 2)
23 + 4x2 — 6. — 5x° — 2x + 2 Write the opposite of each

term in the polynomial
being subtracted.

(23 — 5x3) + 4x2 — 2x + (-6 + 2) Group like terms.
-3° + 4x2 — 2x — 4 ' Simplify. |




